www.fuiberica.com - fuiberica@fuiberica.com

F FU IBERICA, s.l. Tel. +34 932 681 833 - Fax +34 932 683 292

TRANSMISION DE POTENCIA

Twiflex’

Limited

GMR-S and GMR40-S Disc Brake Caliper - Spring Applied, Air Released

Nominal dimensions given. DB4603
For specific dimensions please —
contact Twiflex Limited. 61/2
For GMR Mk 2 caliper details see DB 3604 "
=3
2| &
£|5
HE
5
P (= i
|3 2| BrakeDisc
—{;m 5
VIR 3 254 @R
= | 38/40 (GMR40)
~
D'\SQKS\?\“‘B\Q‘\
w2\
g Disc Centre Line P
=1
2 A !
:;I \ i: +d L :D%
40 |To Edge of Disc %% Note:
= ——— & The caliper may be assembled as
A drawn (right hand assembily) or with
arms and thruster oppositely handed.
Disc Diameter mm 610 760 915 1065 1220 1370 1525 1830
1
2 |
3 , L
H 1
¢,
a
z =
5
Minimum Pressure for Full Retraction 8-4 bar
§ / ’%/ Maximum Pressure 9 bar
e
7

0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32
Braking Torque kNm

The ratings shown on the above graph are based on fully bedded and conditioned brake pads. For bedding in
and conditioning procedures see Publication M1060.

Braking Force is defined as the Tangential Force acting on the brake disc at the Effective Disc Radius.

Braking Torque (Nm) = Braking Force (N) x Effective Disc Radius (m)

where Effective Disc Radius = Actual Disc Radius- 0.06

1) PY IBERICA, S T. +34 932 681 833 - F. +34 932 683 292 | www.fuiberica.com - fuiberica@fuiberica.com

TRANSMISION DE POTENCIA




www.fuiberica.com - fuiberica@fuiberica.com

F FU IBERICA, s.l. Tel. +34 932 681 833 - Fax +34 932 683 292

TRANSMISION DE POTENCIA

Twiflex:
Limited

GMR-S and GMR40-S Disc Brake Caliper - Spring Applied, Air Released

\
\
6 </ = = \\ \\
7 od| 0d obbL b
76 Fully Retracted 209
156 Fully Extended
Thruster Type - S
Maximum Displacement Volume 1.3 1.
Parts List

Item | Component Part No. | Qty. Item | Component Part No. | Qty.
1 Front Cap 1 17 | Spring Ring 1
2 Rear Cap 1 18 Main Spring 1
3 Thrust Collar 1 19 [ Centre Spring 1
4 Stud 1 20 | Inner Spring 1
5 M16 Nut 2 21 M8x 35 Bolt 12
6 M16 Spring Washer 2 22 M8 Nut 12
7 Wiper Seal 600242 1 23 |G 1/8 Plug 1
8 Pushrod 1 24 G 1/8 Washer 1
9 Rod Seal 600243 1 25 Redcap 1
10 Sleeve 1 26 Retraction Screw 1
11 Spring Plate 1 27 G 1/2 Redcap 1
12 |‘O’'Ring 600138 1 28 Label 1
13 ‘O’ Ring 600224 1 29 Helicoil Insert 1
14 | Circlip 1 30 Bush 1800372 1
15 | Diaphragm 7200776 1 31 Bush 1800374 1
16 Support Plate 1

1) PY IBERICA, S T. +34 932 681 833 - F. +34 932 683 292 | www.fuiberica.com - fuiberica@fuiberica.com

TRANSMISION DE POTENCIA




F FU IBERICA, s.l. Tel. +34 932 681 833 - Fax +34 932 683 292

TRANSMISION DE POTENCIA www.fuiberica.com - fuiberica@fuiberica.com

Twiflex:
Limited

ERICA, Sl T. +34 932 681 833 - F. +34 932 683 292 | www.fuiberica.com - fuiberica@fuiberica.com




F FU IBERICA, s.l. Tel. +34 932 681 833 - Fax +34 932 683 292

TRANSMISION DE POTENCIA www.fuiberica.com - fuiberica@fuiberica.com

T. +34 932 681 833 - F. +34 932 683 292 | www.fuiberica.com - fuiberica@fuiberica.com




F FU IBERICA, s.l. Tel. +34 932 681 833 - Fax +34 932 683 292

TRANSMISION DE POTENCIA www.fuiberica.com - fuiberica@fuiberica.com

T. +34 932 681 833 - F. +34 932 683 292 | www.fuiberica.com - fuiberica@fuiberica.com




F FU IBERICA, s.l. Tel. +34 932 681 833 - Fax +34 932 683 292

TRANSMISION DE POTENCIA www.fuiberica.com - fuiberica@fuiberica.com

T. +34 932 681 833 - F. +34 932 683 292 | www.fuiberica.com - fuiberica@fuiberica.com




